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Using Information for Management 



Introduction

Welcome to the Unit 4. 
So far, you have collected and processed the data, and it has been presented to users. Next, the information must be used to improve the management of the district health service. 

This Unit presents the final considerations in the cyclical process of using information in management. It will show precisely how the information can be used for management. For managers to be able to make effective use of information, they require the capacity to interpret it appropriately. The unit introduces techniques for interpreting information, ending with a whole session on Using Information in the role of management – Session 2. 

There are two Study Sessions in this Unit:

Study Session 1:
Interpretation. 

Study Session 2:
Using Information for Management.
Learning Outcomes of Unit 4

	By the end of Unit 4, you should be able to:



	· Apply the practical steps to interpreting information.

· Apply principles of interpretation to examples in your own district.

· Apply the use of information in managing health care services.

· Apply the use of information in planning health care services.

· Describe the practicalities of information usage at local, district and provincial/national levels.

· Identify, describe and counter problems in using information.




Unit 4 - Session 1
Interpretation



Introduction

Unit 3 ended with an overview of different presentation techniques. It showed you how we can provoke action by presenting analysed data that has been tested for accuracy to influential audiences. This means that all the sessions we have covered up to now have been building up to the making available of information. The final step in the Information Cycle, before the cycle starts again, relates to the use of information. It is probably the most important step in the cycle and gives meaning to the overall purpose of district health management information systems. However, before we can use information that has been presented to us, we need to interpret it. This session will cover the interpretation function in the Information Cycle. The rest of the Unit considers aspects relating to the use of information.

In this session we will consider what interpretation is and how it is done, what practicalities of interpretation that we are aware of and apply these concepts to two examples. These examples have been drawn from real data used in a district in South Africa. You are encouraged to try and apply the principles, and even examples, to your own setting.

Session Contents

1
Learning outcomes of this session

2
Readings

3
What is interpretation and how is it done?

4
Practicalities of interpretation

5
Interpreting information on Infant Mortality Rate

6
Interpreting information on Tuberculosis information

7
Session summary

Timing of the session

This session could take you up to three hours to complete. It contains two tasks. A good point at which to take a break would be after section 5.

1
LEARNING OUTCOMES OF THIS SESSION

	By the end of this session, you should be able to:


	· Describe what interpretation is and how it is done.

· Apply the practical steps to interpret information.

· Apply principles of interpretation to examples in your own district.




2
READINGS

The readings for this session are listed below. You are expected to read all of the readings provided, and you may find it helpful to read the first one before you begin the session.

	Author/s
	Publication details

	Heywood, A & Rohde, J.
	(2002). Using Information for Action. A Manual for Health Workers at Facility Level. Pretoria: Equity Project: 78 - 83. 

	Lippeveld, T, Sauerborn, R. & Bodart, C.(Eds)
	(2000). Design and Implementation of Health Information Systems. Geneva: WHO: 33 - 48.


3
WHAT IS INTERPRETATION AND HOW IS IT DONE?

Before we can use information, we need to interpret the information we have gathered. Interpreting means making sense of things or understanding things. So we need to make sense of information, but what is information? We stated earlier that information is analysed data, usually indicators. This definition is true in most instances, but not all. Collated (aggregated) data can sometimes serve as information. Even raw data can at times serves as information. Try to think of instances when this might be the case before reading on.

In rare events, raw data can be meaningful information. Raw data can serve as information in instances where a very small number of events in itself conveys meaning. Let us consider an outbreak of dysentery. If 10 cases of dysentery were reported in your area, would you insist that an indicator be calculated first before you could make sense of the situation? Clearly not. The aggregated data in itself would suffice, because the very event of an outbreak of dysentery is sufficient information in itself. In such a case, it is not necessary to know the proportions; immediate action is all that is required. Similarly, if a single case of a haemorrhagic fever were reported in your area, you would have to act swiftly to prevent further infections. It would be ridiculous to insist on calculations to be performed with the one case. To revisit our definition of “information”:  mostly, we regard analysed data to be information, however, aggregated/collated data and, rarely, raw data can also be regarded as information.

The question may be asked, how do we make sense of things? The answer involves many ways. For instance, we can do the following four things:

I. Mix new information with old

II. Put new information in context 

III. Link up different pieces of new information

IV. Link up different pieces of new and old information
Mixing new information with old information usually occurs over time. We can relate the current situation with the situation as we have understood it to be previously. For instance, if we are provided new indicator values for an area every month, it means that we can look at the new indicator value we see and relate it to the value achieved for the previous month. We could ask ourselves whether it is better, the same or worse. Based on this assessment we can decide whether action is required. The same holds true for an annual HIV antenatal survey. When you get the information on prevalence figures for a particular year, you would relate it with the results from the previous years and assess whether it is going up, staying the same or going down. Similarly, targets can be seen as old information, because we have determined them in advance. Once we get indicator results (new information), we compare it with the target set previously (old information), and decide how we are doing.

Putting new information in context is crucial to understand it fully. If we had a large increase of trauma patients over December, we could probably explain it if we considered the context in which it occurred. Let’s assume that a certain hospital in a rural area recorded a high number of trauma cases over December. We know that the majority of the men living in the drainage/catchment area of the hospital are migrant labourers. They return over the holidays and abuse alcohol in celebration of the festive season. This results in an increase in violence and road accidents. As a result, the trauma unit is inundated with cases. We may also want to gauge how we are performing in relation to similar contexts (areas with the same characteristics and resources) and judge whether we are utilising our resources better, similarly, or worse.

You may have been provided with a report that illustrates indicator values achieved by an area for a specified time. If the indicators contained in the report is at all related, you may be able to make sense of the indicators by relating them to one another (remember what we did with scatterplots). For instance, let’s assume you are provided with a report on Tuberculosis. It states that the cure rates are very low. You also note in the report that a high defaulter rate is experienced and that a small proportion of the TB clients are treated by way of community DOT supporters. The prevalence of multi-drug resistant (MDR) TB clients is also very high. You can relate these pieces of new information by saying that the cure rates are low since many people default (do not complete their treatment) because their treatment is not supervised/observed daily by community supporters and this resulted in many cases of MDR TB.

We can also relate different pieces of new and old information to make sense of things. If we consider the latter example and we relate it to similar report received the previous year, we could say that the cure rates have declined, the defaulter rate increased and proportion of TB clients on community DOT support has diminished. For this reason, the increase in MDR TB has been seen. Now we have mixed the last two techniques to make sense of things, i.e. interpretation.

It is common for us to use a combination of the techniques described above. Also, the more we interpret things, the easier it becomes, because we gain more new knowledge that can be drawn on later to link with newer information. With practice, we also start making better linkages with other pieces of information acquired. This gives a greater mix of information and serves as better foundation to ground decisions on.

Given the above, interpretation of information is best done by a group of people working in the same environment, who share the same experiences. District Management Teams are ideal forums at which an exercise of this nature can occur. The benefit of group discussions not only allows for different points of view to be discussed, but leads to improved understanding and agreed upon action plans. Ultimately, one is faced with many different types of interpretations, and a decision will have to be made as to which the group universally accepts as the best interpretation. One would therefore have to consider which interpretation:

· made many linkages,  

· that are logical, correct, and sensible.

· answered important questions, and

· led directly to action.

We will now encourage you to practice these skills on an example from your case study.

	TASK 1 - INTERPRET INFORMATION USING THE CASE STUDY
a)
Interpret the high incidence of diarrhoea in children under five years of age in 
district A (page6). 

· Make linkages with other pieces of information (also contained in your case study).

· Assume that the annual target is 50 per 1000 children under 
five years old.




FEEDBACK

The current incidence (new information) of diarrhoea in district A of the case study is 96 per 1000 children under five years old. This means that in every 1000 children under five years old in the population, at least 96 developed a new case of diarrhoea. We can relate this new information to the target of 50 per 1000 (old information, because the target was set well in advance). This shows us that we are not doing very well. If we compare the district with other districts (other pieces of new information) we also see that we are doing poorly in the region. We can explain this by looking at more new pieces of information in the case study. Consider the following that all have a bearing on this indicator (context and new information):

· The district has a large population under 5 years old. This illustrates that it is a poor population that does not use contraceptives consistently. This may be as a result of the small amount of first-line health facilities available in the district that makes the service inaccessible to many.

· 12% of all deaths were due to diarrhoea which makes this a very serious problem in our area. Diarrhoea accounted for more deaths in our district than in the others.

· We have a much greater proportion of very poor people in the district as compared to the other districts in the region. Similarly, our people have the poorest access to sanitation and water, live in overcrowded conditions and are supplied with food by outlets that have poor hygiene standards.

· We have the lowest proportion of functionally literate people, this makes health education through posters and the written media very difficult.

· Staffing levels are the worst in the region in this district which does not allow sufficient time for health education to mothers, since the current staff is too overloaded to spend the necessary time with clients for health education. It could therefore also be possible that our district’s population is not as empowered as the others’ population to deal with diarrhoea at home. Hence, the incidence is more noticeable in our district because more cases are taken to health facilities and not dealt with at home.

You will note that we drew on many pieces of new information in the case study to put the indicator value into context. Our findings show that we need to do something about the situation. See if you can do the same for any indicator in your district where you work.

4
PRACTICALITIES OF INTERPRETATION

In practice in order to fully understand routine health information, the following questions should be asked and answered. Having done this one would have a very good idea of what the information actually means and one would be well positioned to use the information in proactive planning or other decision making activities.

1. Why have you produced the information/indicator?  

2. What does the indicator measure?

3. What is the actual measurement value?

4. Has the indicator been accurately measured?

5. What is the target value?

6. What is the normal range in the same, and in other, contexts? E.g.:


In South Africa



Urban



Rural


In the world



Best in the world



Worst in the world

7. How does it fit in with other information?

8. What is the local context?

9. What should you do about the situation?

10. How could you do this?

We will consider these practical aspects requiring answers in our two examples of using information.

5
INTERPRETING INFORMATION ON INFANT MORTALITY RATE

Imagine that you are asked to interpret the Infant Mortality Rate (IMR) for an urban district in South Africa. Using the questions mentioned in the section on the practicalities of interpretation, you could go about it in the following way:

· Why was this indicator produced in the first place?

It is extremely important to know what the survival rate of our children is. If children do not survive to their first birthday, we have serious problems at hand. It is generally accepted that IMR is a useful indicator to gauge how effective health care services are in an area. We felt that the survival of children during their infancy stage would describe the state of our district’s health services well. For this reason we developed this indicator.

· What does the indicator measure?

This indicator measures what proportion of infants die before they reached the age of one year, out of all the infants that could die (live births). In a worst case scenario, all live births could die before the age of one. Fortunately, this did not happen, but a certain number out of every 1 000 vulnerable in the population did die.

· What is the actual measurement value?

The actual measurement for our urban area is 40. This means that for every 1000 children born alive, 40 will not live to make it to their first birthday.

· Has the indicator been accurately measured?

In our example we are happy that the data received was accurate, and that the construction of the indicator was valid. As a result, we may accept the value as the truth.

· What is the target value?

Let us assume that the district management team in our district felt that 45 would be a good target to strive for. This means that we have reached the target and therefore have exceeded it considerably. This is very good so far.

· What is the normal range in the same, and in other, contexts?

The IMR for South Africa as a whole is 56 per 1 000 live births. In relation to this figure, we are performing well. If we look at the figures for urban- and rural South Africa, we find that it is 44 for urban areas and 68 for rural areas. This means that we have performed better than the average achieved by all the urban areas in the country. This is very good, but it shows us that we are possibly the best in the country and should compare ourselves with a wider range of contexts, i.e. internationally. We need to do this because we do not want to be limited by the non-performance of our peers. We want to continually strive to improve our services. Therefore, we must look further a field.

When doing this we find that the worst IMR in the world is 250 per 1000 live births. This is found in countries like Afghanistan, Angola, Sierra Leone, etc. These are all war torn countries and could not be compared with our own situation. Of course, these countries also do not have a functional information system in operation and the indicator value had to be estimated by experts.

The best IMR in the world is 5 and are achieved by countries like Sweden and Japan. Recent reports suggest that this figure is dropping even more. Although these countries are highly developed, well resourced and have very good information systems, we still need to establish whether we can compare our own situation to theirs in terms of IMR’s achieved. Do you think that this is impractical, because we could never match such results with the meagre resources we have in relation? We will surely find the answer to this question if we dig deeper into the situation and unpack the causes of death of these infants.

· How does this fit in with other related information?

Let us assume that the general health information we possess illustrates that we do have health services that are generally better than the rest of the country. We have better cure rates, coverage rates, inputs, quality of care, etc. This all means that the information on IMR is trustworthy.

· What is the local context?

If we consider the resources at our disposal, we need to consider whether we have sufficient staff and materials to deal with some of the common causes of death that brought about the IMR. Let us assume that we do have well staffed health programmes and that infant mortality is a priority area that we want to better. Additionally, we are now seriously looking into the IMR situation and can thus make better informed decisions that are based on our information. Therefore, the local context is conducive to improving the IMR currently achieved.

· What should we do about the situation?

Firstly, we need to unpack the causes of death. From this we will learn which things are the major contributors to the current IMR. You are supplied with the following ranked list:


1. 
Cause Unknown




 21%


2. 
Pneumonia





 18%


3. 
Diarrhoea





 14%


4. 
Childbirth Complications



 11%


5.
Fires






  8%


6.
Accidental Poisoning




  7%


7. 
Malnutrition





  6%


8. 
Violence





  4%


9. 
Congenital Anomalies




  4%

    
10. 
Medical Misadventures
 


  3%

Other Causes





  4%

Notice how useful it is list the causes from high to low percentages contributed. It is now much easier to see which causes of death were mostly responsible for the deaths of infants. The next thing we could do is to categorise the deaths into Death preventable with existing resources, Deaths preventable but requiring extra resources, Deaths possibly preventable, and Deaths not preventable. When we do this, we are left with the following:


Deaths Preventable with Existing Resources

Pneumonia





18%

Diarrhoea





14%

Childbirth Complications



11%

Medical Misadventures
 


  3%

Sub-Total




    
46%


Deaths Preventable but Requiring Extra Resources


Fires






  8%


Poisoning





  7%


Malnutrition





  6%


Violence





  4%

Sub-Total





25%


Deaths Possibly Preventable

Cause of Death Unknown



21%

Other Causes


 
 

  4%

Sub-Total





25%


Deaths not Preventable

Congenital Anomalies




4%   

As you can see, we have classified Pneumonia, Diarrhoea, childbirth complications and medical misadventures under death preventable with existing resources. This means that we can prevent these deaths by improving existing health programme interventions, supervision, training and health promotion. If we were to halt all the deaths from this category, we would have reduced the IMR by 46%. This would leave us with an IMR of 21.6 per 1 000 live births.

Deaths due to fires, poisoning, malnutrition and violence all need more structural changes to the socio-economic conditions of the population. Therefore, it requires additional resources.

The deaths possibly preventable include causes of death unknown and other causes. We have placed these two causes in this category because we assume the reason we do not have clear causes defined for these deaths is as a result of unclear diagnoses on death certificates. Usually, most of these undefined deaths would also be as a result of the top causes listed in our example. It is often seen that death certificates are not clearly defined when the result of the death is due to some cause that carries stigma with it, or could lead to blame.

The category Deaths not preventable only includes the cause congenital abnormalities. So we are certain that we cannot do anything about this cause to improve the IMR.

If we add the impact that dealing successfully with the first three categories can have on our IMR, we see that it is theoretically possible for us to reduce the current IMR of 40 per 1 000 births by 96%. This means that we would be left with 1.6 deaths per 1 000 live births. How does this relate to the best in the world?

· How could we do something about the situation?

We have now successfully interpreted our information and need to act on it. Can you think of strategies how we can improve our IMR? Clearly we need to get all role-players together that could assist us in reducing the number of deaths in infants. Strategic- and operational plans would have to be prepared and monitored closely to ensure that interventions planned are implemented. At an agreed upon date, the achievement of the targets set during the strategic planning would have to be reviewed and we would have to adjust our plans accordingly. Obviously, we cannot strive for a 96% reduction in IMR over the next year, but we are certain that we can improve it. It is true that some causes of death would be hard to resolve, but an improvement is nevertheless possible. It would take a long time to bring the IMR down to levels that compare with the best in the world, but we can start on the journey towards this goal with small annual increments by way of strategic plans that are fully implemented and constantly monitored and evaluated.

The next example we will discuss relates to chronic illnesses. It shows how we can run into problems when we want to interpret incorrect data/information.

6
INTERPRETING INFORMATION ON CHRONIC ILLNESSESS 
INFORMATION

You are provided with the following graph and asked to interpret it. Using the same practical questions to guide you in interpreting the information leads to the following results:
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· Why was this indicator produced in the first place?

No indicator has been produced in this case. It is only raw data plotted on a graph. It shows the counts made by the community health centres of chronic care client visits.

· What does the indicator measure?

Since there is no indicator in this example, nothing is measured that yields comparable results. We are not even sure that we can compare the health facilities with one another.

· What is the actual measurement value?

The actual measurements in this case are the counts reported by each facility on their interpretation of the data element.

· Has the indicator been accurately measured?

No indicator has been calculated, and the value of the data elements is suspect. We could ask ourselves the following questions in trying to make sense of this graph:

· How is chronic illness defined?

· How was the data collected?

· Is this the best way to present chronic care data?

· What is the value of this Information?

· How is chronic illnesses defined?
Chronic diseases are defined as any condition that is considered not curable, but which is a disease for which palliative or controlling treatment is given. A chronic illness is generally referred to as Diseases of Lifestyle. Included in these cases of continuing illnesses are Asthma, Epilepsy, Diabetes, Hypertension, Mental Disorders and HIV /AIDS, amongst others. However, the Monthly Data Collection form specially provides for the collection of certain chronic care data only. The rest is hidden under the sub- heading of “Other”. The problem is further compounded by either a narrow or a wide interpretation placed on the definition of chronic illness. It therefore becomes almost impossible to achieve a clear picture of the true chronic care status of a community. 

The displayed graph makes one becomes acutely aware of how an incorrect interpretation of the definition can lead to grossly distorted data. The figures for District A show an abnormal fluctuation for each facility, given the fact that the same service is being provided at the facilities. One is compelled to enquire if staff fully understand the definition of chronic care. 

· How was the data collected?

Once again, the large discrepancies in the data must also lead one to enquire how the data was collected. Zealous CHC has included in their total, those chronic care patients attending the CHC for repeated visits, irrespective of the reason for the visit. This results in double counting of the total chronic cases. Fancy CHC only added in those chronic care cases selected on the Monthly Data Collection form. The result in this instance, is an under counting of the number of cases seen. Unless some uniform standard is agreed upon, it will be impossible to even begin to compare facilities within a particular district, let alone compare one district to another district. 

· Is this the best way to present chronic care data?

Presenting chronic care this way is of no real significance. It merely demonstrates raw data for a certain period of time. The data displayed becomes really meaningful when it can be changed into information. Possible suggestions would be to compare the case load versus patients seen, or alternately, the number of visits versus patients seen. This type of information is useful to staff and managers, because it can be used as an indication of workload. 

· What is the value of this Information?

So far, we have established that the only real value attached to this data is that there is a lack of uniformity in the method of data collection, as well as in the interpretation of the definition of chronic care. Furthermore, we have also indicated that in its present raw data form, no meaningful information can be ascertained. To enable one to determine whether Clinic A works harder than Clinic B, you must at the least be able to say what each facility’s headcount is in relation to the population being served. Similarly, if we wish to compare the three facilities in District A as shown on the graph, we need to know what size population each facility is serving. The denominator then becomes a crucial component in this calculation, which up to now has been the missing link. However, one is still not in a position to determine the size of each facility, since the data is collected by the number of each visit. 

The answers to these questions clearly show us that it is worthless to go any further in trying to interpret the graph. More data is required and appropriate analysis would have to be performed. But first, we would have to ensure that every clinic is interpreting the data elements similarly.

7
SESSION SUMMARY

This session has introduced you to the interpretation function. It explained the theory and practical application thereof, but performing interpretation of information takes practice. We have seen that we can have many different, but all correct, interpretations. This means that interpretation is best done by a group of individuals so that consensus could be reached on what the information means, and more importantly, what will be done about it.

You have also seen that interpretation of information is highly dependent on all the preceding functions of the Information Cycle that we have discussed throughout the module. This means that we have to be sure that data relevant to our needs was collected in a standardised manner, that the data collected was accurate, that analysis was correctly performed in the data and that it was presented correctly. If these preceding steps were not successfully undertaken, we are left in a difficult position does not allow us to interpret information in the best way possible.
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